
Year 3 Reasoning and Problem Solving 

     

2. Repeat this calculation correctly and explain the mistake that has been made. 

  

3. Work out the answers to each calculation. Compare the statements using 

(the less than, greater than or equal to symbol). 

 

 

4. Sam is having a party and has worked out that each party bag will cost 45p to 

make. He has asked 6 friends to come. How much will it cost in total to make 

the party bags for his friends? 

 

Hint: There are 4 possible 

combinations to calculate. 

1.

.. 



Answers 

 

 

3. =  <  > 

4. 270p or £2.70 


